(x* + 5x + 6)(x? — 3x + 2) — 252 & HF=A| Il gF

@) (2 + x+12)(x - 4)(x +5)

X2 —x+12)(x+4)(x-5)

X +2x-12)(x+4)(x - 5)

®© ® 0 ©

(
(
(x* = x=12)(x+ 4)(x - 5)
(
(

X2 +2x-12)(x —4)(x + 5)

~&B

(x% +5x+6)(x2 — 3x + 2) — 252
=(x+2)(x+3)(x—1)(x—2) - 252
((x+2)(x = DH(x + 3)(x - 2)} — 252
(x2+x—2) (x2—|—x—6)—252
+x =12 2SI,

(t—2) (t-6) — 252

=2 — 8+ 12 - 252

= 1> —8r—240

(t+12)(z — 20)

(x% + x + 12)(x? + x — 20)

= (2 +x+12)(x—4)(x+5)
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dla+b)=24=>a+b=6
b= V3a=a+ V3a=6

(14 V3)a=6
6 6(V3-1)
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3. x?-9y% - 2x+ 18y — 8 UFEofotH?

@O (x=3y+2)(x+3y+4) (@)(x—3y+2)(x+3y—4)
® (x+3y+2)(x+3y-4) @ (x-5y+2)(x+3y-4)

® (x=3y+4)(x+3y-2)

B

x2—-9y? —2x + 18y -8
=x2-2x-9y? +18y -8
=x?—2x—(9y* - 18y + 8)
=x2-2x-(3y-2)(3y-4)
={x-(y-2)} {x+ (By-4)}
=(x=-3y+2)(x+3y-4)




4.  f(x)=4x+2, g(x) = 6x>—5x—4 °]1, 8 = ax+b = UEtYo]d

i, 2ab ©] F-27

g(x)  6x*-bx-4

flx)  4x+2
_ (2x+1)(3x-4)
2(2x + 1)
3x-4 3
= = — —2
2 2"
gx—Zzax—i-bo]E'—ia: g, b=-2

.'.2ab:2xgx(—2):—6




